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t Master of Arts (Economics) 1st Semester
1128

QUANTITATIVE METHODS— I (In all Mediums)

Paper— MAECO-103

Time Allowed : Three Hours] [Maximum Marks : 80
Note : — Attempt five questions in all, including Q. No. I which

is compulsory and selecting one question from each
Unit. Simple, non-scientific and non-programmable

calculator is allowed.
,

I. Answer any ten of the following in 25-30 words each ;

(a) Define derivative.
(b) Find fx, fy, fxx and fyx of the f(x, y) = x5 + x3y3 + y5.

(c) Properties of inverse of matrices.

(d) What do you mean by consistency of equations ?

(e) Define R2.

(f) Limitations of ratio to moving average method.

(g) What is an ideal index number ?

(h) Give any two problems in the construction of index
numbers.

(i) Express the elasticity of demand in terms of q for

(j) Define linear dependence of vectors.
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(k) Find x,, x2 and x3 if Xj - 2x2 + 3x3 = 1; 3x1 - x2 + 4x3 =
3 and 2x, + x2 - 2x3 = -1.

(1) Distinguish between correlation and regression,

(m) Concept of random variable,

(n) Axiomatic definition of probability.

y2
(o) Find partial derivative of u w.r. to y and z for u = — + yz .

z
10x2=20

UNIT—I
II. (a) Define homogenous functions. Find the degree of the

homogeneity of the function f(x, y) = x3 + y3 - 3x3y and
verify Euler's theorem for this function. 2,4,4

(b) A monopolist has the following demand and cost functions
respectively :

p - 100 - 5q

c = q? + 4q + 5

Find the level of profit maximizing output and the

maximum profit. 5

III. (a) If u - -ZZ—, verify that :
x + y

du du
(i) x • — + y • — = u and

dx dy

-> d2u , d2u 2 d2u .
(ii) x- • —- + 2xy • —— + y —y - 0 5,5

dx dxdy dy

(b) Determine the price elasticity of demand of p = qe~q.
5
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V.

VI.

x + 2y + z = 2, 3x + 6y + 5z = 4 and 2x + 4y + 3z - 3.

fetft H»FHT ^t tfo 5ft I 5ft HcFTi- =
f ? f̂ ? f^nrftpx1" era" i

15

p— in

(X3(X2

X,
*2
X3

45

25

31

50

35

28

55

45

32

70

55

32

75

65

29

75

75

27

85

85

31

(i) X2 = 60 >»ft X3 = 25

(ii) X2 - 80

VII. (§)

X3 - 30.

f?jH?j uist

2019

Y = abx ftf^ X - ?TO, Y

(»r) nf^TB" 3s ̂ ^ fetfl-

11

15

FTO

kcx^l

2012

32

2013

47

2014

65

2015

92

2016

132

2017

190

2018

275
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— IV

VIII. fee A, B »f§ C §

2 3 4

oft for :

era??

(S")

IX.

5x3-15

2001 t »f§ Hrft 2009

(i)

(ii)

B

A

of

MA

ps

HW

535̂ .̂

fTO

Hdoi'c< S.

2001

100

2009

100

2002

110

2010

125

2003

120

2011

160

2004

130

2012

190

2005

170

2006

200

2007

240

2008

300

2009

350

5,5

5
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